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[1 #include#includevoid bhdy(int s,int b).void prt().int
a[4],flag,count.void main(){ int b1,b2,i,},k=0,p,c. printf("Game
guess your number in mind is # # # #.\n"). for(i=1.i {
printf("No.%d:your number may be:%d%d%d%d\n", count,i,i,i,i).
printf("How many digits have bad correctly guessed:").
scanf("%d".amp.bl). /A0 00000000000
if(b1==H{prtQ.exit(0).} /00D 0O00OOD0OO0OOOO0O*
for(flag=1,j=0. for(k=] 1.k if(a[j]'=a[k]) { c=a[j].a[j]=a[k].a[k]=c.
/*0 0 a[j],a[K]*/ printf("No.%d:Your number may be:
%d%d%d%d\n", count,a[0],a[1],a[2],a[3]). printf("How many are
In exact positins:"). scanf("%d",&amp.b2). A0 O 0O 0O 0O O O O

O */if(b2==4){prt().flag=0.} /A0 0 0 0O O O O O O O */ 100Test
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